Chapter 5 Review Packet
1) Simplify to ONE trig function or a number.
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2) Prove the following identities. Be sure to use only ONE side!!
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Chapter 5 Review Packet

Use the ANY OF THE FORMULAS for the following questions:

Find the EXACT value of the expression- this means no decimais!
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Chapter 5 Review Packet

Write the expression as the sine, cosine, or tangent of the angle; you do not have to find the value:

9) sin60°cos45°—cos60°sin 45° 10) cos45°cos120° —sin45°sin120°

= Sin {fo=95 ) NG ERRIZD
= S,}é?ﬁ '§§@ ‘ |

4 @

= (i 16K

tanZ25°+tan10° 12)
1—tan25%tan10°

tan68°—tan115°
1+tan68°tanl115°

e 25T —Aanllg-1=)

= e 35" | E 'hﬂ(fq?;\)

11)

13)Find the exact value of the trig function given that

sinu ;E and cosv= ~% , and where both u and v are in Quadrant III.
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14)  Use the figure below to find the exact value of the following trig functions:
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Rewrite the expressions using one of the formulas
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19) sinZxsinx=cosx
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